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PART A: Reading Comprehension:
Directions: Read the following five passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

And now look again, and see what will naturally follow if the prisoners are released and
disabused of their error. At first. when anv of them is liberated and compelled suddenly
to stand up and turn his neck round and walk and look towards the light, he will suffer
sharp pains the glare will distress him. and he will be unable to see the realities of which
in his former state he had seen the shadows, and then conceive some one saying to him,
that what he saw before was an illusion, but that now, when he 1s approaching nearer to
being and his eve is turned towards more real existence. he has a clearer vision-what
will be his reply? And vou may further imagine that his instructor is pointing to the
objects as they pass and requiring him to name them-will he not be perplexed? Will he
not fancy that the shadows which he formerly saw are truer than be objects which are
now shown to him?

1-  What is the main point of the text?

1) prisoner’s disabusedness of their error

2) the shadow’s non-reality in prisoner’s eyes

3) prisoner’s perplexity after being released

4} approaching nearer to reality by being released
2-  when the prisoners are released, at first ————- .

1) they will been distressed

2) they can see the realities easily

3) they will not feel any inconformity

4) they will suffer pains for their previous state
3~ What causes the prisoners to feel Pains?

1) their eves’s unablity to see in shadow.

2) their unability of naming things in shadow.

3) their awareness of their previous state.

4) the effect of the light of outside on their eyes.
4-  What was the prisoner seeing formerly?

1) the objects 2) the shadows
3) the real beings 4) the light of the outside
5-  The main difference between the prisoners and their instructors?
1) naming the obects 2) what realy exists
3) distressness of the prisoners 4) what the prisoners’s eyes can see
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PASSAGE 2:

Also central to Descartes' metaphysics was the distinetion between mind and body.
Since the clear and distinct ideas of mind and body are entirely separate, God can create
them apart from one another. Therefore, they are distinct substances. The mind is a
substance whose essence is thought alone, and hence exists entirely outside geometric
categories, including place. Body is a substance whose essence is extension alone, a
geometric object without even sensory qualities like color or taste, which exist only in
the perceiving mind. We know that such bodies exist as the causes ol sensation: God
has given us a great propensity to believe that our sensations come to us from external
bodies, and no means to correct that propensity: hence, he would be a deceiver if we
were mistaken. But Descartes also held that the mind and body are closely united with
one another; sensation and other feelings, such as hunger and pain. arise from this union.
Sensations cannot inform us about the real nature of things, but they can be reliable as
sources of knowledge useful to maintaining the mind and body unity. While many of
Descartes' contemporaries found it difficult to understand how mind and body can relate
to one another. Descartes took it as a simple lact of experience that they do. His account
of the passions is an account ol how this connection leads us to feelings like wonder,
love, hatred. desire, joy and sadness, from which all other passions derive. Understanding
these passions helps us to control them. which was a central aim of morality for
Descartes.

fi-  why Descartes believes that mind and body are distinct substances?
1) because they has been given us by God.
2) because they are united with one another.
3) because God created them as united with one another.
4) because our clear and distinet ideas of them are completely separated.

7-  on Descartes account, sensory qualities are --—---——-- z
1) substances 2) geometric objects
3) mental perceptions 4} essence of bodies

8- The great propensity that God has given us, leads us to believe that ---——-—--- ;

1) mind exist as the cause of sensations

2) mind and body are entirely separated

3) sensations exist as the causes of bodies

4) Bodies exist as the causes of sensations
9-  Descartes hold that, sensations can be reliable, only because ——-———-,

1) they give us knowledge of essence of things

2) they can inform us about the real nature of things

3) they cannot inform us about the real nature of things

4) they make a kind of knowledge which is useful to maintain mind-body unity
10- Descartes says that, we attempt to understand passions, in order to .

1) control them 2) reject them 3) perceive them  4)experience them

i (§07] (gul kbt § 50 (6 a9 5] Gilslial § Sl gu s



S Feid 90 5] guitatii e bt § G e (632 (o

F asie 117A (35 piadani) (5553 5385 53938 gl

11-

12-

13-

14-

15-

PASSAGE 3:

Kant's approach to the T is profoundly new. On the one hand, Descartes takes the 'I
think' to indicate the existence of a substance, distinct from the body. This ignores an
important paradox concerning consciousness, which is that we cannot directly
experience it, just because it is the having of the experience. Hence, there is the saying:
"the I which sees cannot see itself”. Kant recognizes this paradoxical point and explains
it: the 'I' is not an object of possible experience, because it is a presupposition of
experience. On the other hand. Hume rejects Descartes™ reification of the 1. He notes
that there is no sense impression of the [. According to Hume, all concepts must be
derived from sense impressions. Consequentlv, Hume accepts a skeptical position about
the concept of the I. Kant rejects Hume's skepticism. He agrees with Hume. against
Descartes, that the 'l' cannot be an object of experience. But he disagrees with Hume
that this means that the notion of an 'l' cannot be justified. It is justified by being a
necessary feature of all awareness.

what is the main subject-matter of this paragraph?

1) Hume's idea of the *I’

2) Descartes’ idea of the °[ think’

3) Kant's new and different idea of the ‘T’

4) Hume's criticism of Descartes’ idea of the *I°

why Kant criticized Descartes account of the *1'?

1) because Descartes rejected the reification of the I’

2) because Descartes regarded the ‘T" as an object of experience

3) because Descartes took the ‘1" as a presupposition of experience

4) because Descartes believed that we have no sense impression of the
Why Kant criticized Hume’s view of the *1'?

1) because Hume rejected Descartes’ reification of the °I°

2} because Hume regarded the °I” as an object of experience

3} because Hume noted that there is no sense impression of the *I”

4) because Hume accepted a skeptical position about the concept of the *T°
Which of the items below does not correspond with the text?

1) Descartes takes the ‘1" as a substance

2) Kant and Hume believe that we can justify the I’

3) Kant takes the °I" as a presupposition of experience

4) Kant justifies the °I" as a necessary feature of all experience

Which of the items below is closest in meaning to the underlined skeptical?
1) Dubiously 2) Certainly 3) Optimistic 4) Pessimistic

H"I L1

PASSAGE 4:

Both Plato and Aristotle claimed that reason can obtain certain knowledge of God's
existence and nature. This claim has been endorsed by many Christian theologians.
Thus, 5t Augustine.writing from within the platonic tradition. affirmed that the human
intellect by nature participates in eternal Truth. Furthermore, many theologians have
held that God's existence can be proved. These proofs may be divided between those
which take the form of a priori reasoning from God's essence and those which take the
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form of a posteriori reasoning [rom [inite experience. The first type of proof is
exemplified chiefly by the Ontological Argument, which was first formulated by St.
Anselm and restated by Descartes. In its Anselm form it runs as follows: the idea of God
is the idea of that than which nothing greater can conceived: a being that exists is greater
than a being that does not exist; therefore God exists. In view of the criticisms to which
this proof has been subjected (especially by Agquinas and Kant), it is widely considered
to be invalid by both theologians and philosophers today. The main a posteriori
argument received their classical formulation from Aquinas.

16- The main subject of this text is about --------- A

1) Augustine 2) christian theology
3) ontological arguments 4) our knowledge of God’s existence
17-  According to the text who was historically the first body that criticized the *Ontological
Argument®?
1) Kant 2) Anselm 3) Aquinas 4) Descartes
18- Anselm’s proof for God’s existence is a kind of -------- ;
1) a priori reasoning 2} a posteriori reasoning
3) theological reasoning 4) empirical reasoning

19-  Ontological arguments in the view of contemporary philosophers and theologians are

1) valid 2) invalid 3) doubtful 4) very important
20- The word "those" in the passage refers to -----—--—-- :

1) Proofs 2) a priori reasoning

3) a posteriori reasoning 4) ontological arguments

PASSAGE 5:

While Plato and Aristotle were realists, they disagreed about an issue of central concern
to realists. As a question of historical accuracy, scholars differ about the precise nature
of the clash between these great figures, but in the schools of thought that arose after
them, three different interpretations have been given to the disparity between Platonists
and Aristotelians regarding universals:

1. Are there uninstantiated universals - universals not exemplified by particular - or does
the existence of a universal depend on at least one particular instantiating it?

2. Do universals remain outside or are they in the being of the things that have them?
3. Do universals remain outside the things that have them in some spatial location, a
Platonic heaven, or are they spatially in the being of the things that have them?
Platonism and Aristotelianism may be identified as the view which embraces.
respectively, the first and second options in each question.

21- The main topic of the text is -------- ‘
1) universals being outside the instances
2) saying the precise nature of universals
3) assigning realism to both Plato and Aristotle
4) saying the points of difference between Platonism and Aristotelianism on realism
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23-

In Platonism ------- --.

1) there are unexemplified universals

2) universals are in the being of the particulars

3) there are only universals immanent in their instances

4) universals depend on their particulars instantiating them

According to the text,

1) Platonism reflects Plato’s opinions accurately

2) Aristolianism differ Aristotle himself regarding the very reality of the universals

3) there isn’t one all-accepted opinion about the real differnce between Aristotle
and Plato

4) the disparity between Plato and Aristotle is, respectively accepting and rejecting
the reality of the universals

Aristotelians say that universals

1) can be there uninstantiatedly

2) remain outside the instances spatially

3) are spatially in the being of their instances

4y aren’t in need of their instances to be in them

The issue of central concern about the disparity of Platonism and Aristotelianism is:

1) wether or not do the universal realy exist

2) where and how does a universal realy exist

3) how a universal can exist in a Platonic heaven

4) how a universal can have more than one instance
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